
cg';'lr ! v 

dlxnf tkm{ 

qm=; j8f g ljj/0f रकम s}lkmot

1 ! b]lv !% j8fsf dlxnf :jf:Yo :jd ;]ljsfnfO k|f]T;fxg eQf 216,000      
2 g]t[Tj ljsf; tyf cled'lvs/0f tflnd -;fljs uf=lj=;=cg';f/_ 160,000     
3 1 l;nfO{ s6fO{ tlnd 50,000       
4 emf]nf a'Gg] tyf sk8fsf] rKkn tyf u'8Lof agfpg] tlnd 67,000       
5 2 hglxt cfdf ;d'x dlGb/ lgdf{0flwg lt;]lw 117,000      
6 3 >L/fwf s[i0f dlxnf ;xsf/L ;+:yf ejg lgdf{0f 77,000       
7 l;nfOs6fO{ tflnd cf]sfbL 40,000      
8 4 a]df};ddL t/sf/L v]lt ljp ljhg vl/b l/h' 30,000       
9 shg y'Dsf vf=kf= 6+sL lgdf{0f 87,000       

10 5 g]t[Tj ljsf; tyf cled'lvs/0f tflnd 37,000       
11 Jofu tyf rKkndf a'l6s eg{] tlnd 80,000      
12 6 hghfu[t cfdf ;d'x ;fd'bfos ejg lgdf{0f ltnfxf/ 40,000      
13 6f]n ljsf; dlxnf ;d'x lrp/Lvs{ 27,000       
14 d]l;g ;xltsf] l;nfO s6fO tlnd d'nkfgL gf=;=s] 45,000      
15 7 vf]/ tf?v df]xf8f8fF vf= kf  tyf 6+sL lgdf0f{ tyf kfOk vl/b 120,000     
16 ;flnsf]if tNnf] blnt al:t v'q'u}/f  vf= kf = 47,000      
17 8 ;fa'g agfpg] tflnd tyf ;fdfu|L vl/b d'Nsf a/fxL gf;s] 117,000      
18 9 dlxnf lzk ljsf; tflnd ejg cf]if]s 117,000      
19 10 sflnsf b]jL cfdf ;d'x ejg lgdf{0f kfl;G8f8f 60,000       
20 ;dfh ;'wf/ cfdf ;d'x wf]jfbL ejg lgdf{0f 57,000       
21 11  cfdf ;d'x kf];fs  lbu'jf 17,000       
22 ;fd'bflos ejg lgdf{0f  :ofgf]e~Hofª 50,000       
23 ;fd'bflos ejg lgdf{0f l;?vs{ 50,000       
24 12 a]df};dL t/sf/L v]lt ljp ljhg vl/b e'?ª8f8f 30,000       
25 cfdf ;d'x ejg lgdf{0f /f]lhvf]nf 87,000       
26 13 dlxnf cled'lvs/0f tyf g]t[Tj ljsf; tflnd sfo{qmd 37,000       
27 sflnsf cfdf ;d'x ejg lgdf{0f jnfd8f8f 80,000      
28 14 df}l/kfng tflnd sfo{qmd j8f g !$ sf dlxnf ;d'x  50,000       
29 l;nfO{ s6fO{ tflnd sfo{qmd j8f g !$ sf dlxnf ;d'x  67,000       
30 15 dlxnf cled'lvs/0f tyf g]t[TJf ljsf; sfo{qmd 17,000       
31 lzjhL cfdf ;d'x ejg lgdf{0f sfo{qmd 50,000       
32 ho dftf lb cfdf ejg lgdf{0f sfo{qmd 50,000       
33                                   s''n hDdf 2,176,000   


